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Passage:

Hobe:— Sfelfaad TRl Ufdedt Ui [ erare a: Irdany I far faad|

RARGT- JURA Hafd HUIE: | 3R IRMNDEL IRITARANRIGT o Ugd faed | HurH S - 3id degegai: | fRmeafa st i gosa
a1 el @riecar sgepTet Sifadar 3 PRUM Ta e Wi aai=d |
I TRAYR: IHAY Yl 3R GRRI USRS, TaH SqP: STd A q@rHad | fohwdl: ydia o/ &ia: |

TUS PR HUI: Hald Sfd SRR A | YU Fafior $fft a- SURHIAN | Uhewr a¥g: ORI UPd: SaTH- Serid Hafd 3id o1’ R | 53y s1ery
fTAaq faved add) ofd: GRIaeoR 3ia SR =it s TRIgHYEd |

Q.No: 1 Hue: v Rigraw Iugiar Hafd?

A k ERIRrARSS ]
B TG |
C BURIE|
D TEREE|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— Srelifarad eIt ufm Uy fadedTete ored: Ifaany S T faadl

RARIETRT IUR1 Hald PUe: | 3 IR aR X RIRaRIRGT $d TH faed | S S - 3 deeegaics: | Ry s T gawr
foera | ool @i sgaTet Sifddar 3fd HRUM Ta o Urafifd a6 |
I IRAYR: IAHAY ¢l 3R SRR SURMaId, TaH 3qP: Sfd M qeryad | ol Ydid o/ &Ia: |

VUSRI HRUE HUI: Hafa sfa srrarfe aan | yusre Fafftr oft o sufAfHaf e o R Uea: s gerd yafa 3fa o Rigr: | 5y sremy
A e Jdd | 31k graelt 3 srRAmT a3ReE Sl uRieHyad |

Q.No: 2 IR PRI Uadi®: &:?

A IRP: |
B e |
Cc PUMG: |
D S|

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
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Hoha:— i Tl ufdar Uy fRisearerea: Sfaany W frar forad|
RATRGT U Yafd HUME: | 37 IRNSER SRR $d UHd 9w | $o o - 3fd dagegar: | o o A s
faera ) el Eridar agoie sifdddr 3fd $RUF Td d9| Waifd a6 |

YT RAR: IAHAY el 3 SRR ISR, TaH S 3fd A qeryad | forwdl: gdia o/ &1a: |

USRI HRU HUE WAl 3T ST T | IO a3 S SuRHai thew o TN UHa: S Sehd vl 3 o Rig: | eny sremy
SLiRq faved addl o Tuaeh 3fa SR 2R wifa uRigrved |

Q.No: 3 WRANR: P IY YT 31 T IUSHBAG?

A WIEITH|
B TEHATH|
C Igwas|
D BN

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Ta:— Srelifarfed et ufdar uyH fasedrare ored: Ifidaaq S [ foaal

RATRIGTA Ul Hafd HOMG: | 3% GRS S RIRAToRIG $d W e | S oif - 3fd dagsgaf: | oy sk iy taw
faera | urel @iidar agere siifddar] 3fd RO Td qaM i a6 |
YA IRAR: ITHAY el S SRR SUCRMTRIY, TaH SqP: 3fd A deyad | forwdl: gdaa o/ &1a: |

VORI SR HUI: Yafd 3 SR 7 | JU=ry gaiivr oifty a5 SuRiHai| teew atgt: ORI Uea: SaTHs 9ers vafd 3ia o Ris: | a3y 31y
A faye aeddl o gRraenit 3 s 32fd S uRieyad |

Q.No: 4 =raeml 3 uRie axf foor arafare

A R
B |
C AT

D |

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hora:— Sreffarfed et ufdar uym fas ey oreg: Ifrdaay Sw fuar foaa|

RANRYETE JURTT Hafd HUMG: | 31 RS SRR $o U9 faea | $or e - 3fd deogegat: | Rwarfa o A gaw
a1 el @riecar sgepTet Sifadar 3 $RUH Ta aaM Ui aai=d |
I TRAYR: IHAY el 3 GRITRI SUSRHSBRIT, TaH 3P STd - q@rHa | fohwl: ydia o/ &ia: |

IS HRU HUI: Hald 3fd SRR 7 | YU Faiivr ot o SURHIN | Uhewr a¥g: ORI UPha: SaTH- Hgrid Hafd gid o1 Rig: | 53y S1ery
AT e ada) sia: RaeR 3 SR 3RfYd s TRIgHYEd |

Q.No: 5
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TRYA - Ugwse forgd |

A TR +
B T + A
C TR + ST
D TR + e

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hoba:— e TRl ufden Ui [ edrare a: Shaaay I far fawd|

RATRIETR JURT Hald PUe: | 3 IR aXRIRARIRGT $d U9 3w | S S - 3y deeegaic: | ey s A gaw
foera | ool @rfear sgaTet Sifadaar 3fd HRUM Ta aad Urafifd agi= |
YA TREAR: IqHAY YT 3R S USRI, TaH Sq@: 3 - qeanaq | foredl: gdia o/ &Iat: |

TUSRT RO HUI: Hafa sfa srmarfe aaq | yusrg wafftr oft o sufAfHaf e o R UHa: S gerd yafd 3 o Rigi: | 5y ey
XA faved add | o gRaentt 3 SR 32WE sy uRreHvad |

Q.No: 6 TR HARY G vt adfd| faiwome fen Rl

A SRY|
B =
c g

D Tdd|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Heber:— Sfeffarfad el ufder Uy famedrarda: Ifoaany W far faad|

RANVRIGF U Hafd HOME: | 3 TRMHaR eI $d T4E e | Hom iR - 3fd qaeegans: | Ry s A waw
e ol @niean ageTe Sitfddar 3fd RO 9 a9 wrfifa agi |
YT RAYR: IAHAY ¢l S SRR SURMSRI, Taq Sqd: 3fd M qeryad | ol gdia o/ &1a: |

USRI HRT - Yafd 3 sremd 7o | yos Gaiitr sift g sufRifai | thew axgH: ORI Udd: SaTHR g Yatd 3fd o Rigi: | e ey
TRaq faved addl or: el fa s SR s uRrgHvad |

Q.No: 7 3@F+ - 3 &1 fqufda:?

A Tyl
B qan
C sl
D |

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Harg:— Srelifariad et ufdcm uyei fodbedrara ored: Ifaany S T foaal
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RS Ul Hafd HUNG: | 3% aRNPH R SRR $a vy e | S of - 3fd daesgafs: | oy sk il taw
fea | Ryl @i sgeret sifadar 3 $ROA Ta aam Ui a6 |
YA RAYR: IHAY Yedl 3R SR IJUSRHDBR, TIH Sq@: 3dl - qeanaq | ol gdia o/g &iat: |

USRI RO HUI: Hafd Sfd Sarie 7an | Yo Jaiftn offt o SuHHaH | T a¥g: ORI Udha: SaTH- Serid Hafd 3id o’ Rig: | 53y S1ery

AT faved ada) i RaeoR 3 SR 3Rt S RIgEvEd |

Q.No: 8 MY - 3 &: TR:?

A o[ g |
B TORIRY: |
c Fauidieaf:|
D qloaf:|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hoba:— Srelifarfad uent ufdan wat fadwearare ava: IRaam S e firad)

AT WA~ GarHar:,
v 7 T o
TEOIT: THIT Aa e TIE: |
AT aTy GE AT WISia
Y, AT AT =7
TR Aoty qort
i 7 R =meT

Q.No: 9 &: gy ?
A YT

B T=:

o Bl

D @
Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Hebe:— SrelfaRad Tt ufdn Wt fadbearara raed: Jfradamy SR ferar forad |
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argT aveg gaELTsTY Weig
=, =iea T =

RIRIULEREERILE IR LT
i 7 [ =

Q.No: 10 & Weaii<l ?

A 3G Tl

B g Sdn:

C o

D SHfo:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

- Srelifariad gerisi ufdn Uyl [ameqrareored: Sfaand S far forad|

T 2ie gafeais,
T WISH (T GurHar:,
TSI 7 eI o
T THIT AavegT9a: |
ATt ATy YRSty Wi
Y, =rtea AT =
T sty qort
497 7 [ ST

Q.No: 11 &7 g Hold ?

A garor ymat
B Pz YRt
C s

D SfTeTRar

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hoha:— Sfeifaad gent ufddn yet fadwearare av: IRaam S e foad|
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WgHT A a GEryar;,
IeTw 7 IOt e
TSI TR Taweq 9= |
argT aveg gaELTsTY Weig
|, Triea T =
AT RwmeTeaty ot
i 7 [ =

Q.No: 12 @i oo @ 2

A PrerTad- e

B ERIT-fasma-fEm
c SRR fas fefr
D HuE-fEfor

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

- Srelifariad geisi ufodn Uyl [ameqrereored: Sfaand S e forad|

T 2ie gafeais,
T WISH (T GurHar:,
TSI 7 eI o
T THIT AavegT9a: |
ATt ATy YRSty Wi
Y, =rtea AT =
T sty qort
497 7 [ ST

Q.No: 13 TUIH & 7 Tl ?

A UR[G:
B GRS
C GREIH
D SGESIH

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hoha:— Sfelfaad gent ufddn yat fadwearare ae: IRaar S e foad|
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WgHT A a GEryar;,

NER R RIS EI]
TSI TR Taweq 9= |

ATgT ATg AAATSTY eI
=, =iea T =
SRR Aoy o
i 7 [ =
Q.No: 14 U AT W7
A A
B ot
C et
D ROa:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hha:— SfeNferled =il U3t Uyl A erraeaRd: IfRIdary S el forad|

g SisF{rd ggrHar:,
NECEE RIS
TOIT: TR AaITIa: |
ATIT T E AT STST0
=, =T e =
RIRIUEERE RIS IR T
i 7 R =e

Q.No: 15 yrf 3 ugwr wafgug =i -
A et

B CUE
c IR
D el

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 16 ¥ U WTTe-Yedrg: AIR?

A wfarm
B AT
C AHAFH
D afgarq

Correct Ans : D
Subject : Sanskrit Bhasha 02
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Q.No: 17 <&rfy 3fd o8 &: wea:?

A W
B v
c ki
D 31

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 e U fecdian-faufa: Mk

A g
B TR

o JUHUH
D qd:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 19 ~adidy 3fd uew &: FR-ldwde: qyfa:?

A T+ @iy
B A+ 3raefian
C A+ 3y
D A+ arefiaq

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 20 wfaaiiemy Mayone: Waifean: SR wR wafa?
A ISR

B R
C SRR
D ARG

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 21 Ife U IEIERAY Ud G IRFdeaaw UIs: M Ui i, T T RigoRigrae siagam i ?

A IR g

B IegE ey 9 g
C IR T A Rigrae

D o Rgraw

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 URIMAEwIR HINIRIEEId PT Sdam Hafa?

A SAPY AFGAAL: TAT RIeum
B UGIYES & HIaari HUSRIHIIH
c AT TYT Sfe: Y WIS TR Ui

D Srae wfife wam Hag
Correct Ans : C

Subject : Sanskrit Bhasha 02
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Q.No: 23 SFd: Ggud=i Ufhar 3R -

A St
B Sfﬁiqﬁ:
c 3t

D 7 fpafy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 24 Rigre: Rifag qears e qerg-H sl Al ITAR F [ -

A e T IUATRITR I

B Frere Rigvr-Srasawar I TETOR T RigoRuEfd A

o Y- SRIAY, ST HeRi SHhafiig o We=i- Ty =

D T YA SawTg T = e Rafu=Re R Shuaaed FuRRgy

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 25 HINIRIEURY THNUTHS: ek —

A OIS S Teelia

B T TN YeorTat St vt
C AU Y Hafa

D HTSRIT: TREEE: I o Galtd

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 26 BH HIV- G T8 HIWRI&O! T IS dl &S

A oRad
B fRRamar:
C SR
D T

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 faenff: Hmm: Siftwgul Hdf -

A HISRIT: GRTT: fawaol Har

B AT IR e SR Feal

C TR HTNTET: SR SRl

D WA AIAIER0 YIS FHAER Hal

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 28 AHUGHSIPHA-STH: T At - SITH HeeATaTm?
A B TAIIH

B oAt SRRt fraat

C S Aty

D LUt EDEEU

Correct Ans : B

Subject : Sanskrit Bhasha 02
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Q.No: 29 'yrag 01 38 fawRiy, fRiery A 38 WRIH, dior A1 SieH SATTRY| 3R’ Hy- & wriey ofkr?

A st Warerdf Rignif: iy unt wied: st omr: RRaer: |
B BEN FRURIGI-S=ie=Te RIepTon EgrSRAI Sa=aswi |

C SHFTT-afdiera fRiert TEEyuiy |

D BET: g qu il fawRfa o ompha: Hfeseau fFaft 7 Fyag |

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 "B TgeIadl TEIHTYAT 90 F Ioal: Hag: :" 3y fob mgwaquiy ?

A foifea e wieom

B TROEAF YART:

o BE: T B 9T UM HTTT W19 SF:

D T AETHTIT TR SRIIROT T o T UTSTIRINT AR TEHH

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 31 9T &7 1 Hewyul G Sex gl

A BE A YOI Qe BT [GHR BT

B IGIIEd UTST TN, WR fAmiv), SiRiaras &1 snar &A1

C BEI A TG, WA, WY, &1 ¥ AN &1 argal Sa= S

D TP & V] aIeiR quT dpiieaal Siife; & B 7 gig S

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 32 W1 &) el & Tl & SrHdl B WM 1 SR T4 8, Ml

A T I ®

B I P Rpma T B

c TS o IET Ao Y 3 T Silad ¥ SigdR o bl
D T 30 R $I R 1T &l G |

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 33 A AR A sa dar e

A TA W

B oM |®

o e orf
D TR

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 34 H SR H FHIHS & S Il B foba wreil # fawford foan mam &-

A 5 it §
B 3l i
C 29 &
D 6 T H

Correct Ans : D
Subject : Hindi Bhasha 01
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Q.No: 35 Triftre wemsli § Ria-w (4feT aig) &1 S84 e & § a1 g anfee?

A
B
Cc
D

=l 1 S Rae

TP TS & ¥4 H 3BT STIRT HIAT

ot sl & UToT TERT & SRR UM FHRAT
o) Y TR @

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 36 =i & § oI W1 Ho Tt 87 3 B = Tl R @IS, ag

A
B
C
D

T 5T NG 3@ ]

9 T B U IR A iR
T8 T WIS BT I g g T8 Tt |
Ty HNE ¥ET 7

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 T Ugd I=RUI ST Sl ¢ 94T B 916 | 31 Wedl PT IRV 9 § T8 A H F HH-41 fafy g2

A
B
C
D

g fafy
SrEues fafy
S Al
e AR fafy

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 38 = & I N8 &1 of THgmH & o fovy fafdr &1 wanT fosan S

A
B
c
D

AR BT WA Ay
T FT FAIRTHRor fafdy
Fa-feamex

wa-fave

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 39 fam & & yrwr Ryeror & exg-soy Gkt el &1 g@ wRiieH &1 82

A
B
C
D

BE 3 faftrs 3t o siferaria s
BRI ®1 S &A1 B I BT
Ren & o o ST | Fid F7FT
B! @1 fafte 3 3t i s

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 40 Sgi! Swdi &) §gd U< 8, Fer Rigvr & U sreamus o) B 8 3 frd geza W gy g ¢ 3 a1 »

A
B
C
D

HETG! B1 TP Fad 30T Y B, St SIAp] BT HARSH B o
TR & GRI SIS I UINT FT SST I HIAT ol IHal 8
FEF F GRI TAH! Bl SR ST BN ST S Il 31
FEF & GRI ! B AHRIR BT BT T S Tl B

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 41 e A T (G BT TS MR FT 82

A ElEll
B HTST

C ferg
D g

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 YT

A et Bt T ¥ & Hid wRd 71

B T & & < o 21

c % Fanag R B

D Haq SRl & Rt BT E ST B B

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 43 3fe qTeie H 31&RY Ud Yeal & U SHIHR, HH TUT 3HeRT 3R Weal & i Bt g8 F WEh SR HY THSM B A9gdl $T fAHR 61 ¢ o o] Bl BI--1 el

BT YRG0 ST =MRT?
A G- et qarer T e
B EIGERCLI KRR B
c Torg"t Weidft qaraT 1 ufaor
D BTN TR BT TRI&T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 44 Ry T & I= Wiy TR W 59 uwr 3 Rieror &) wrafiesan, & S 82

A wwpa

B fae=h
C 3t

D TIGHTST

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 45 ‘&= YT YR BT &A1Y Je1 8 17 78 R &

A $ar taag
B i et
C S oy

D 9. . ISt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= - QU T TR S UgdR g U URAl & 9Ed 3d Sai aId [dded &1 99 Hifeie-

a1 I U 6 ¢ 98 BieT TR & iR oft T 2K § o I S0 @ 71 7 op | AR 9 R T 6 9 39 981 I ual Iar o B sy gn B st
G&H TUT IS BT  § IUHRUN T faaeor &1 1ifod IR F TR fashR &8 37 faxawia Surdi ol wee s § ) §, o sita & 3=1d &= mr o1
Fehdl §, Al TR FUBRUT, IO quT Wieil & Sace T vl § fo g1 onht oft frafa & gry &1 Raedn € 81 g0 oot Rafa ag =gt &) urd | ushfa & W gt g

B S T ETT AEqT B o1 8 IS S YYD I gl I @ TR I UM F U 5% T el aE 01 A Sl 39 ThTa b el W S B 1 39 e R
B T G T T el Bt o Thal T TAR IS T B 39 THT T Ja] SIS Al & d 8 U Bl AR B Wed o, SIG-gh A1 YHH 3N BT RPR

REIGE]
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Flt-F ot Tegw FRa § 5 e foosht Selt aoe & gk fraem 509 fomt o €1 it i fommd an gile 5 e ¥ usd So7 et §1 SRR g $S U ab o
RO G H S S, 9 gH TN Bl § fob g0 9gd @ gIRIa fobarn 8, afe gaA arafaes fasrg g uig g1 Siae &1 g9 oiam SfiFT argd § o oft =18l T %@ §1
T I U ST T B THM BRI TR §, Al o1 e Uil §1 59 71g & 31 BT a1 AT T § 31 819 9 § b T &1 fae S9rn § 2 A 7 ure giaw
T P BT B B BT ¢ ?

Sitae & gR Ua § qHma MiEaarshi & A g8 UE SiAfdd O« WieRA! gl U oaRer fuRar fewr @it g =€) oma f ia us&1 od g o & ? I81 g8 oA
T SR 3T B e & o faxar I g9 famm ol et & fafy 0 3 o o1 9% | 39 S o & I A Ffgar oik wqdur &1 enam feu 87 e
P IRY W Igulfed el ol

Q.No: 46 Iudad TR & AT (4 7 & 3K <ides 1 =g Sifvi-

A S &1 = W™

B Siae: Pt o1 e g@a
C it IRA & TR SMfaspR
D YA T S Sper

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e A1 fau U T B ugeR U U URHl & Wed IR SR aId [Aded &1 98 $ifoe-

e T IR TP G T 98 Bio e ¢ O off T =1 § 35 S8 o & 1 o1 9% | @R 39 W W 389 9 59% 981 9 el Sor o 31 eyl g & s
YEA qUT IFNB SATHEH J T IUBVT T faae g1 1ifdes e & TR SfaspR g8 37 fazag-ita Iurdl &1 wee 31y 2 31 8, M9 shaw &1 3=1d & o
JhaT 8, AP IR IUSON, AT quT Tl & S1aelg T A & [ gw endt of Frafa & g o1 e &1 €1 8w ool fafa 9T e R Ui | ol 39 W B R

T IS SN SEH Aeqy ovd ¢l g Uefa & Uy ¥ gfad ur & =ifigu) S8 UM & fou g v vl I g et gl 39 Ufa 6 gar W Siid €1 U@t g R
B o BT T gfRT e HEl S Iobell B TAR IS H bl I THT 3T Jed] Siebg Al € ST 87 Upla &1 AR Bl Yed €, S1g-gbH a1 Yb 3ale; Bl RIBR
RHEIGE]

Fll-wlt Tegw axa § 5 T foseht Wielt aore & TR fraem gad o o § 1 it i fommt an glern g% wa & ugd 361 Ot T SRR g SIS Ue ab ok
DR GHF T T 3T, 79 & e gl § b gHA 9gd oo BRI fhar 8, Afte gHA arafae fawra =1gt urg 1 Siia 1 g ST S =red & 3 oft g w8 €1
B I TN IR T B THM BRI IR 8, AlB o1t T Ul §1 89 g & o Pt 1 AT T § 1 89 I © b T 1 g mm 8 2 A B are giaw
ST PRA BT P BT AT ?

Site & g U § qHId fEadiei & 91y gH Ue iHidd o WieRH! gri1 U suRer Fufar fewrs it e =16l a6 foa uso1 od 3= 3% & ? U8l g6 oA
T TR 3T $I SN § o [zarg ¥ g0 e et e & Fefy =0 3 o o 9% | 39 Sk Il & I R [Refoan ok gador o1 epary fu e Shaq
P IRY g Igued gl gl

Q.No: 47 Iuad TR & AR, TART 3aRew fkar fog w grfie

A e R

B Frvfaar SR Fmdor R
c Y 96 W

D TR SHTHT TR

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

A R fu U TRy B ugeR IR U U & IS 3R SaR I fiwey &1 999 Sif-

e 1 I U W ¢1 98 i s ¢ b ot T et © b I I €1 7 O I | IR 99 W e 8 9 39 3 § wef 31 ot 31 snufe g # s
Y& YT AT 3Mha | S BN o facerr &1 i IR & TR SnfahR &8 9 fazas-iia Iurdi o1 wee 3 ¢ @ ¥, 4 sita &1 3=1d s=man o
THaT 8, AP IR IUSRON, 0N quT Wil F Sraeg T @ § [ 5w endt o Frofa & g o1 e & €1 gw s fafa a9 T R Uil vt 59 W B 71

TH U ST SEH Aegd oed ol 89 Uefa & Uy ¥ gfad ur & =gl S8 um & fow g v el ann ag &3t gftl 89 Uafa it gar W ofid €1 39@ S )R
B 99 36 GuHT G TeT B o Gebal 81 TAR IS A &) 39 AT S A€ OibS A & Od BH YD B AR B T ¢, Se-dBH Al Y 31 B RiPR
R

-5t Hegy B § fob o fordlt et aote & gaik e v 359 o €1 2t 1S fomrdt o gfeTT o e 9 ued 33T Al 31 SR g SIS Ut ad 3R
PR T T T AT, 9 5 36N gl € P 59 95 oo oI o B, A g9 arafdw faw et o §1 Sitaw 31 5 Sk of 1 ared ¥ an oft e =R #
T SN T 3T e 31 AW IR H3a €, AP ora T o &1 50 T & oM 31 7+ A< WA € 0 &7 9 € 6 A 1 foreey rn & 2 A 1 ureH g
ST B BT PR DI DT § ?

SiiaT ¥ & U H A Ridet & Y g8 e RfEd Iar Wiera enfl e smier Fkar g 2wl 59 e W o Rwt w1 o9 9 B 3 ? 98l g oA
T TR 3T $I SN & o fazarg ¥ gn e et e & fafy =0 3 o o 9% | 39 Sk Ial & I 1A Refoan ok gedor o1 enary fu e Shaq
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P IRA W IgUIMed el 3T

Q.No: 48 IUYFd TR & IR S HYF P T BIfoL-

A SfiaT Y g9 ST ST TEd € 4T off 1 U1 <R €1 59 S U SR Te Bl aHM HIRMI B §, Al erd TE U g
B S & &R g H T AiRawst & oy 78 T ARG I Wier gl

c S BT I TP W &1 T8 o § 3R S o +ff A 7 o Fwan|

D Wi IR S TR NTPR 58 S fxaeria Sur &1 e oM § ) ¥, OFS Siiae &) S=1a = o g g1

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

&= e QU U TR S UeadR g U URAl & 9ed 3Rd SaR aId [d@ed &1 999 Biie-

S T IR T oW ¢l 98 Hiod oRex § e oft T =12t § o I8 o @ 71 7 ¥or | TR 99 TR Iiad 6 9 399 181 9 vaf Ia1 o 81 snyfie g & i
YEA qUT TP SATHEH § T3 IYDVT T [aaem g1 Hifdes Ia & TR faspR gf 37 fazaa-ita Iurdl &1 wee 31y 2 X1 §, M9 sias &1 S=1d & mn o
THaT 8, AP IR IUSON, AT quT Tl F Sravle T @ 7 [ 5w endt o Fofa & g1y o1 e & €1 gw s fafa 97 T R a1 vl g9 R B B

T IS 3 ST Ty Hxd o) T Ui & UYd I gfed g o F1feul I UM F e g ue Al amn 0 HReAl g g9 Ui Bt el WS g1 SUP! &l R
€ 6T T G TE FE O Tl 31 THR IR B B I T I S T Al § 9 g7 UPla BT AR & T8 §, Tg-gHH I1 YHH 3N $T RBR
REIE]

F-mft Heqy B § o o foredt et aote & gaik e e 59 o €1 3t oS femrdt ar geleT o uaa 9 Ued 33T Al 31 SR g dIS Uty ad SR
HRO GO H S 31, I9 gH ST Bl § b g0 9gd $o g o B, afde gan arafas s =5 uig 81 Shiae 1 g1 Sram ST =g § 3 oft =18t oT %@ §1
TY I 3O 3R eTa B M BRI XA §, Alh o ol UId o1 TH 75 & M1 BI FA1 AT TN § T 89 S © b g DI [5G SR § 2 At BT UM gla)
ST HRA BT B DI BT § ?

Sie & g1 v § aHa Ffadeii & e g8 ue i Iar WerA Rl ue sraferd ffkar foars it e A8 o i fow wso o 95 3% T ? Igi gF oA
T 3R 3T $I SXd & o [Jzarg ¥ g0 5 et R & Fafy =0 ¥ o of 9% | 39 Sk Ial & I 1A [Hefoan ok gador &1 epar fu e Siaq
P IH Y5 IguIied el gl

Q.No: 49 1 # 9 o Weq-gm &1 W Suderd T # 181 faban 1 g2

A -
B - At
c 9-

D SfTRT-3ERT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A R U U T B ugeR IR U U § I IR SR I fadey &1 T4 Sifn-

e BT I U I6W ¢ 98 BidT oo & fbR +ft A 12 § b I o & 1 o b | TR 99 W T 84 & 399 Aal § vel 3o1 W 81 enyfie g & et
Y&H JUT A1p SMHa | T IUHRN T faqerr &1 +ifad IRd & TR oI & 3 faxas-ia Surdi o1 wee 3 € R ¥, SR sita &1 3=1d s=man o
T §, AP TR IO, IO T Wil & STaclg T e € b 8w endt oft Py % gy o Ry @ €1 5 ol oy a i R ard ) v 59 W B

TH ISP 3T SR Wy HRd 3| TH UHia & Uy F g urt € 91fgul 39 un & fow oF ve Al ann 7 SRl gt g9 Uaia Bt oan WS §1 Sudt 6 W
A T 5T FagT G el B o Yol 31 TAR IUTE F B 39 AT S A99 S A & O &6 U B AR B Tgd €, Ae-gBH AT YW 331 BT RPN
HEIGE]

Full-Folt Tegw Fxa § 5 9 foeht el aorg & g e 509 fo o §1 it 1S fommdt an ger 8% i & ugd Jo1 Ot §1 SRR g1 $1E U ddb ok
PR TAS B LT AT, 9 5 36N g1 € P 59 959 oo g b B, Af g9 arafaw fawm et urg §1 Siiaq 31 5 S o1 ared & a oft e wr =R #
T IY U 3T SA- B A HIRME TR g, Afh o =8 urd §1 g3 g & 31 DI F0t AT Wi § o1 81 9 ¢ o g 1 [ §9rm § 2 S} 1 Uret glaw
TN B BT BRI DI DT § ?

St & g1 v § aHd st &y 58 @ AT o Wier gl te srafverd ke ferg &t &n A o 6 R ws@m e o9 g 3% 3 2 98T 8F o
T TR 3T BT SRR & Forge [azarg 4 gx {1 fodt et & fafy =0 3 o of 9% | 39 SR Il & ai- WA [Hefoan ¢k gador &1 epary &g &9 Siieq
P IR 5 3gHIfed T8l gl

Q.No: 50 = & 9§ a0 ‘R fa1 &1 7 90 9% & 1T U ¥eg &1 997 Pifom-
A
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B SuigR

C yferardt

D yfafafy

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
R i foU U TR B Yo U U URAl & 9ed 3d SR dId fdded &1 999 HifeTe-

S BT 34 U 6 ¢ 98 BioT wRex © FbR ot T =1 § 5 I8 o & 1 o 9 | TR 99 WR Aed 4 9 399 AT § ual Io1 o B1 enyfie g # sra
A qUT IS BT T T IUSHR Tagd fadefr §1 Nfod Id F TR SMiaspR 56 I fazawia Ul &1 Wee o1y & 36 8, P sfias 31 3=1d s r o
Tl g, Al TR SUSHRN, IOl qUT Wieil & aIaeg G el & 1o g1 onft oft Fafa & g1y &1 fean € €1 &0 oot Fafd aa =8t o) Ui | Uhid 89 W 814! 8

TH 3P AT SHEH Tegd Id 5| 88 Ui & UYd 9 Jiad U g 9ifetl 39 UM & Y 58 TP Al I/ ad el giit| 89 Udhid &t &al R oiid o | 39@! gl R
B 9 W& T gfad el wEl S bt €1 TR IS H ) I TG A Sed] Sibg Al € SId 8H TPl @1 AR Bl G €, SIg-guh a1 YHH SIS Bl RIBR
REEIGE]

Fl-F 2t THegy P § [ o forelt el aorg & TR oM g0d 18 o § 1 H4it i TomR A g g 9 ¥ Usd 361 oidl ol SRR §H P13 Ude db 3R
HRO T H T A1, 79 T 59 Sl © 5 T 95 $© SN 5T B, A g arafde o ET Ui § 1 Sitad 1 g9 S i 9red § 9 of e %R 7
T I U 3R Ta B M HIR XA T, Al ST Tal Uil 31 T g & 31 BI a1 At T § T 8 S © fob g DI gl SR T 2 A BT YA glas
ST PR BT P BT AT ?

ShaT ¥ &3 v & aamg Ridaaet ¥ @y 58 te g Ian wier gnfl ve smfterd Fikar foarg ft & 7 o o Rat ws o 3o 9 IR 3 2 I8 g oA
T 3R 3T $I SReRd © o fazarg & gx A1 forelt et & fRefe =0 3 ol of 9% | 39 S=aR Il & 9 1A Refoan ok gadur &1 epar fu a1 S
1 WA ™ Ieuied -Tdl gl

Q.No: 51 HYF 'gH v+t Fafd o e o= U’ &1 e & 9 @ oref @2
A SiieH P1 TRA WW Iguied T8l Bl

B wft B -3 R @ € EioM ved 3
o Sitae & el 9 99 6 B aE
D ot Iy uw ST oite ofiFT A Al

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= A T T Y B e g@ U URAl & 9 3d Sak a faded &1 99 Sifee-

S BT I U 6 ¢ 98 BidT o & bR ot T ek § 6 I8 ST & <1 o b | Ok S TR T 64 9 399 98T  uaf 31 o B1 sy g & st
F&H TUT IS B A T IUDR0T T4 d [aael g1 Hifdd I & TR AISHR 58 3 [ORau-ii Sur! &1 T YN & X8 §, [SFN Siae & S-=Id a1 o
Tl B, AT TR BN, O U Wil & STae T v € o gw endt ot fafa & gy o Racde @ €1 g oo fafa @ el o ard ) v g9 R g B

T I ST SR A9y B7d ol 89 Uefa & Uy ¥ gfaa ur & 7iftu) 3¢ U & fou e ue ol ann ag o)Al g 8 e i g WS €1 Suet e R
& T & T HfE el B o bl 2| SR IE T 1 39 YT 6T Jo oIS Al @ o 8 U Y AR $ Wed €, SIG-qBH A1 YHW AN HT RIBR
o gl

FHlt-woft Tegw Fxa § 5 & ol el aog & 5 oA 509 57 o §) ot i e an gilen 5% i § ugd So7 et ¥ SRR 7Y $E U ab ok
HRO G & g1 M1, 79 T 5T BI § [ 80 9gd $O TN a1 8, AP 1 arafe oo T8t U §1 Siiad 1 g SR ST 91ed § 9T o el 0T ¥R g
T I U 3T GIA- B T B TR 8, AfebT o1 =8 Ui §1 80 g & o Bl &t AT Wi § o1 81 9 § o g ! fpam §9rm § 2 A4S 1 Ure gl
ST B BT B DI BT § ?

St & &= ua # aua el & gl e i Iar Wera el ue sraferd ffkar iewrs &t en A oM o Rw usw e o 9 3% 4 ? Ief eF oA
T TR 3T BT SRR & i [9zarg 4 gd o1 fonslt =it & fafe 0 3 ol off I | 3 Sk Il & av RA [Hefoan ok gadur &1 enary g o Siigq
BT IRA W Iguifed T gl

Q.No: 52 ITHa Teli¥ & AR, Hd TR & TR SMTHR &8 I faawria Suri &1 Wee 31" & 38 8, Frd

A et @1 wea Fruffa far s g g1
B Iu 3 P 31 IR a1 o o w1
C TG RSN W [

D g St ST SR O Wbl 31

Correct Ans : D
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Subject : Hindi Bhasha 01

Passage:

e AR fou U T B ueeR U U URHl & 9Ed 3R SR ae e &1 749 $ifs-

e BT 3 U 36 ¢ 98 Bied ooy © bR ot T =g § o I8 o & 51 o 9 | @R 39 TR AEa 6 9 399 A61 § ual Io1 o 31 snyfie g & st
F&H JUT AP SMHAT | T BN T faqerr &1 47 IRd & TR SNfThR & 3 faxaw-ia Surdi o1 e 3 € ) ¥, 7R sitaT &1 S=1d s=man o
[T B, AP TR IR, IO T Wil & STacg T A € b 8w endt oft Py & g1y 1 e & €1 5 oo Fafy @ At o ur | v 59 W B 1

B SO M e AEYY B o1 8 USRI & UyT I giw o @ I1fiRu) I8 U & e o v ol ann qa o3t St g9 Ut 3 eI W o B1 SuS e |
A T TET GagE g el B off Yebdl 81 TAR SIS F &) 39 AT S A9 oS Al & O §H U B AR &) Tgd €, Ae-gBH AT S 3N B PR
REIGE]

Fl-mft Aoy BRa ¢ b o ot et aore & gaRk e 51 59 9 €1 ot o1 feart a1 gHerr &8 wh ¥ Usd 38T Adl 31 SR §H B3 Uy ad SR
PR TAF B T AT, 9 5 36N g1 § P 59 959 oo g o B, A g9n arafw faw gl urg §1 Siiaw 31 5 S of i1 ared & 9 oft e w2 #
T I SO ST Ta P THM BRI R &, AlH o1 Tl U1 §1 59 g & 31 3t 1 A T § 1 89 I § b T &1 gy SImm § 2 A 1 are giam
ST HRA BT BRI HIF BT § ?

Siie & &3 vl H aHa FAfaet & 9y g8 T ARG Iar wWiere erftl ue saRerd ke fears 2t en Tt o 6 ew yso 9 9 3% & ? I8l oF o
T TR 3T DI SRR & Forde [9zarg I gx 51 foelt =it & fafe =0 3 o off 9% | 3 SR Il & 9 A [Hefoan ik gadur &1 enary f&u &9 Sfieq
BT IR 5 3gdIfed T8l gl

Q.No: 53 =1 & § BH-U1 e uier &1 fdaH Tsg 87

A uRert
B ffard
C ST
D e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& FIAR B Ugax U9 T T=A! & a9 SFId Iak a1t fadwed &1 797 Hifore-
Fg S DI JIHIT T

g - 1 o1 319 98 &1
SR b1 qg febvor 2t
ST - ST WUy AR ot
T - g 9 fRfga &
3T ST IEHR Tl ol
IR X far gt
=T & R - siftrmia
AT S TPl - TP BT
dg gl e, R I

I HEH WR & AR
PEINIEIRACRIE

T e fosd a8
a1ea 3 RRY @R

g ol e &

I - Wow P Hag N
e A & I3

391 & €1 3RS oA
i ufad g-giepR

WA - T DR T D
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30 R fIgd @ Bl
IS RBIGR-E |

Q.No: 54 Tgd U™ ® far g &1 famor 82

A aut
B Pl
c R
D EL)

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

R TN B TgHR I T U $ He STud ek a1 [ed $T 98 it
Fd THI BT JPHIT AT

Hg - He U7 3 58 @
A= B g fawor ot
AT - T <quny R off
T - g fRiga &
SfCRT- 3T TG B (ST
IR T o gl
FRIeTE % RR - siftrmfa
VS I TP - TS B
I HgM R & dR
arell B g0 T W

WU Balg [Bsd ol §
e BT R & &

iy wi e &

T - To P HAE R
S A J IS a1l

31 % 21 3w uRHa
& I ufad gI-gleR

W - T DI T DI
T R fIgd <@ 3l

15 BT R & B

Q.No: 55 &3 fas ey yvR - Hag fsd &F W@ e?

A o9 - SR A
B IHd1 - THAT A
C EUGIK:

D Laral &

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
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A& FIR B UgaR UP U U F a9 SRd Iar a1t fawed &1 799 Pifore-
Fg THT DT JUHIT U

g - 1 o1 39 98 @1
AR B gg fbvor 2
ST - ST WUy AR ot
T - g I fRfiga &
3[CHT- 3T Y6 B ForTeh!
BINRCACRIE RG]
f=meTa & R - siftremia
Y I bl - b Pl
d< g e, fer I

I HE™ WR $ R
qarehi B T W W

TR e foSd T §
15 BT R @ g

i swi e &

T - To P A R
g I | I3 AT
1 & & SRS aiew
P UiY uifdd -8l

WA - T DR GBI
3o W frgd T g1

e BT R & B

Q.No: 56 "SFg-wI@" H____ WAN R
A ST THR

B wgsife Tg

C AGY JHH

D EEREI

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

A ST B UgaR UP U U & T8 IFd Iak ardt fadwed &1 997 Sifor-

g ST BT JUHTT U

g - Hq T 3T 8 @I

SRS &1 g fobul &t

ST - ST T R ot

TP - TR A R &

SITAT- ST IGDR B [STeh!

Y ¥t faar S

F=mmepTet & =R - aif¥ramita

4G I Tl - TDS B

I HEH WR B dR
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arell B g8 T W
WU Salg [Hsd ol §
5 BT R & B
g wiH e &

A - Fod P a8 R
Erc K NRCIREEICIE
391 & <1 3RS uRHa
& i ufad §1-glepY
WA - T PG DI
3T R fergd <@ 3
15 BT R & B

Q.No: 57 '9I5d I feRd a1 &' § o1 Sy g2

A & BT SR
B TG BT B
C dIed &1 iRl
D IEd BT B AT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

I BT B UgaR UP U U $ 99 IR IaR a1 faped &7 Tue Sifore-
Fg ST DT JIHT U1

g - He o7 3 558 3@
AR 6 qg fbor 2
ST - ST wauniy AR ot
& - g A A &
ST~ ST TGPR B [oFTep!
TR X e gt
fIeTa % fR - siftrmfia
S I Hdl - by Pl
I HEH WR $ @R
Qarell B g8 W W

T Hue sd @ ©
e P R & 3

i g5 e &

T - 9o P Gl |
e T | I3 a

11 & & gHE® uiea

% IS ufad g1-glp

WA - T DI T DI
3T W Rigd T &)

s1ea 3 foRa @ ®1
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Q.No: 58 "3aral Bt g3 T8 W, U Hag Vea @A UG coR 8
A TP IABR

B IS IAPR
C 3N 3(CPR
D SUHT PR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R S B TgHR I Y U F He Sfud ek adt [ed $1 99 Fifei-
Fg S DI JIHI YT

g - He T 3ie 8 @M
SRS i 7g febvor ot
ST - ST WU RRaR o
T - T A R &
3T~ SfeNT IEHR Bl el
IR T far g
FRIETE % fR - siftremia
IS 3 TP - TS BT
§g gafm s, R I

JY HEH WR $ dR
arell B g0 W W

U Heis fesd 3§
TIed BT o @ &

iy wi e &

A - Fowd P Has R
(e A J I ard
391 & g 3RS uRHa

& I ufad g1-grepe

WA - T DI T DI
3T R fgd @13l

15 BT forat & B

Q.No: 59 UU[ - $alg q Hig BT FIT a1y g2

A -3 d
B WIRFSE
C LeE
D ELEkS

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
& P & UgHR YD U URAl & a9 Id IaR a1 fAded &1 9 Pifor-
Fg ST BT JIHT T
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e - Tig T 3 % @I
AR B gg favor 2
ST - ST Uiy AR ot
T - g 4 fRfga &
3[CHT- 3MTT TGP B FoFTeh!
RN CACGIE RG]
f=eETa & R - siftrmia
A I Il - Ibs PI
e geil e, e S

I HEH WR B R
Rarell B # T WR

TR e foSd a4 §
15 BT R @ &

i sl e &

T - Fe P a8 R
ST I | I3 A

1 & & SRS aiew

P UiY uifdd -8l

WA - T B TT R
30 R Rigd w8

TTed B R & B

Q.No: 60 i qHfH! urd) & 58 wa &2

A IHdT Bl
B THdl B
C B T B
D Rarelt Bt

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 61 YWhat should come in place of the question mark (?) in the following question?

2466859

D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

V3489 + /7 = /6561

Fefefigs v 0 yeaEe 6 (7) & SF a1 wihe?

V4489 + 7 = /6561

16

16
196

196
14

14
225
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225
Correct Ans : B

Subject : Mathematics

Q.No: 62 A student was asked to add 16 and subtract 10 from a number. He by mistake subtracted 16 and added 10 and found the answer 14.
2467064 \yhat is the right answer?

TP B $I TP T H F 16 S 3R 10 TeM & 1T o1 Tar o1l 3899 et § 16 Her faar @ik 10 Sis faar ok SR 14 U 98! St 1 82

20
A

20

26
B

26

30
C

30

32
D

32

Correct Ans : B

Subject : Mathematics

Q.No: 63 One fifth of a number exceeds its one seventh by 154. Find the number.

2467162

U G 1 Ufdal U $9& UH-Iad T 9 154 3if¥ie 71 T 91a sif|

2695
A

2695

2606
B

2606

2700
G

2700

3595
D

3595

Correct Ans : A

Subject : Mathematics

Q.No: 64 What will be the fourth proportional of 4, 12 and 16?
2467448

4, 12 3R 16 ST Iguiard Fa1 EIm?
A 40
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40

48
B

48

44
C

44

42
D

42

Correct Ans : B

Subject : Mathematics

Q.No: 65 The length and the breadth of a rectangular field are in the ratio 3 : 2. If its perimeter is 80 m then what is the breadth (in meter) of the
2467644 (iq|d?

T SEAHR HEH B daTs iR ASTS &7 oUW 3 @ 2 ¢ 3 3T@! gk 80 1 § o fem @t 95 (fex §) T 82

18
A

18

10
B

10

16
C

16

24
D

24

Correct Ans : C

Subject : Mathematics

Q.No: 66 pe
2467990 f1_59 is equal to:

B AR &:
29
A
29
25
B
25
2
C
2
D 12
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12
Correct Ans : C

Subject : Mathematics

Q.NO: 67 3025 .
2467992 [ 18 equal to:

% P TER &:

12
A

12

11
B

11

13
C

13

2
D

2

Correct Ans : B

Subject : Mathematics

24'\‘6‘;0%82 A line which intersects a circle in two distinct points 1s called a ... of the circle.

U 31 O U G $1 &1 HOI-SHTT gl & dleal o, 99 @1 ... Heamai ol

Secant
A

a1

Arc
B

Y

Segment
C

gs

Chord
D

Sftar

Correct Ans : A

Subject : Mathematics

Q.No: 69
2468131
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In the given figure, 2a is greater than one sixth of right angle, then:
c

TS MDA T, L2 THGIUT & S HITA IS1 8, aF:
C

U~ e
A o 8

b= 165°

b= 165°
b < 165°

b<165°

b <165°

b <165°

b= 165°

b= 165°

Correct Ans : B

Subject : Mathematics

Q.No: 70 Simplify in the exponential form:
2468243

(3% 6 =9

I 9 T WRd PR
(3P= G =9y
152
A
152
54
B
5-5.
-152
C
~152
-3=
D

Correct Ans : B
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Subject : Mathematics

Q.No: 71 Simplify:

2468246
OO+ B0
IR BIfOMT:
O+ O O 0™
1
BT
A
1
BT
29
B
29
-29
C
-29
1
25
D
1
25

Correct Ans : B

Subject : Mathematics

Q.No: 72 When introducing mensuration, a teacher writes all the formulae on the board before proceeding further. This reflects that she is
2468456 following the

AR & T R, T RfEwT 3 97 I 98d 918 R T T Y foraedt ¥ 98 <xifan § o 98 SR RIS T ...

Inductive approach

A
SIS RSB
Deductive approach
B
e =i
Experimental approach
c
AT Ef¥ebiu
Practical approach
D

gD SRR

Correct Ans : B

Subject : Mathematics
Q.No: 73 The ratio of 2 hours 30 minutes to 60 minutes is:
2469642
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2 "¢ 30 fiFe 9 60 fiFe &1 sHUE ©:

3:5
A

3:5

5:2
B

5:2

1:5
C

1:5

4:5
D

4:5

Correct Ans : B

Subject : Mathematics

Q.No: 74 Find the least common factor of the following monomials:
2469988 24%5 y9, 56x7 ¥

farafaf@a twudil &1 agH JaUdde J1d BT

24x7 yo, 56%7 3

196x7 ¥
A

196x7 ¥

169x7 ¥?
B

169x" y?

168x7 v?
C

168x7 v?

1447 32
D

144x7 ¥#

Correct Ans : C

Subject : Mathematics

Q.No: 75 Find the ratio of 2% to 4.
2473325

2Y 2T HTT AT HI=AC]

1:8
A
1:8
1:4
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1:4

1:2
C

1:2

2:6
D

2:6

Correct Ans : A

Subject : Mathematics

Q.No: 76 Ratio of 1 mm to 10 cm is:

2473438

1 forft @1 10 Ff § orguTa a o

1:10
A

1:10

10:1
B

10:1

100:1
C

100:1

1:100
D

1:100

Correct Ans : D

Subject : Mathematics

Q.No: 77 Teacher should ask comparison question

2475900
e &1 a1 Uy G AR
in the beginning
A T3 §
at the end
B ok |
. in beginning and in the end

T H SR ofq H

at any stage

D fedt T TR W
Correct Ans : C

Subject : Mathematics

Q.No: 78 Which two signs should be interchanged to make the given equation correct?
2479402
35+8%x4-18+9=5

f3T ¢ el 1 @) S & R &1 3 el &1 suw # sean s anfeee
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35+8%x4-18+9=5

+ and x
A

+ 9k x

+ and -
B

+ 3R -

+ and -
C

+ R -

+ and x
D

+ 3R x

Correct Ans : B

Subject : Mathematics

Q.No: 79 ‘T’ means (x), U means (-), ‘X’ means (+) and W means (+), then what will be the value of the following expression.
2480932

(50 X 2) W (28 X 4)

T @1 3 (x), U3 (-), X &1 o (+) SR w &1 of (+) B, d FafeiRad oiwie &1 1 a1 g

(50 X 2) W (28 X 4)

42
A

42

58
B

58

35
C

35

63
D

63

Correct Ans : C

Subject : Mathematics

Q.No: 80 If'+' means '+', '-' means '+', 'x' means '-' and '+' means 'X’, then what is the value of 24 + 12 - 18 + 9?
2480959
e '+ BT '+, - T R 4, xR - SR ' BT O 'x' B, W24 + 12 - 18 + 9 FTHF T 32
-25
A
-25
0.72
B
0.72
c 15.30
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15.30
290

290
Correct Ans : D

Subject : Mathematics

Q.No: 81 If‘x’stands for ‘+’, '+’ for *-/, *-' for *x’ and ‘+’ for '+, find the value of the following equation:
2480962
54 +16-3x6+2=7

e 'x 1 3 '+, ' 3f -, -y 8l rx @ik 4 1 o e B, O e wHieRer o1 A T1d P

54 +16-3x6+2=7

9
A

9

12
B

12

8
C

8

15
D

15

Correct Ans : A

Subject : Mathematics

Q.No: 82 Unsatisfactory relation of a mentally retarded child with the environment is technically called

2481357

TRR® T J 1 99 & TR0 & 1Y RIANSHS J6¢ dh-ih! ©U T Hgard §
A Autism

Maladjustment
B

ST

Pseudo-duliness
C

B ARl

None of the given option
D

fau e el # 4 D15 16T

Correct Ans : B

Subject : Mathematics

Q.No: 83 Which one of the following is NOT a basic principle around which a teacher could plan his/her examples?
2481396
1.Be sure the examples are accurate and appropriate

2.Use the examples as teaching tools

Frafifed 7 § oF-a1 e g Rigid T2 @ e SMuR W te Ried 2o IeTerul 31 QST ST Jhdl 82
1. 9T X 5 IameRu 9dF SR IugH §
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2. SRR BT FRI&0r IqFRU F FY T ITINT B

Only 1
A
Fad 1
Only 2
B
Paq 2
Both 1 and 2
(o}
gl 1 3R 2
D None of the given options
R fawedt & 9§ o T

Correct Ans : C

Subject : Mathematics

Q.No: 84 Theory of learning which totally and only depends on ‘observable behaviour’ is associated with
2481702

e Rigia o T e ¥ IR Had '3EwieT 9 FagR’ W R aRar €, TR & R I g1 81
Behaviourist

HaERAG!

Constructivist

REE GIC
Cognitivist
TIHATHD

theory of learning.

Developmental

D foor et
Correct Ans : A

Subject : Mathematics

Q.No: 85 price of different items in a shop is given below.

2481868
Item Quantity | Price (in rupees)
Book 10 850
Bag 8 2800
Lunch box 32 1280
Bottle 12 1020
Pen 20 100

Pritam buys 3 books, 4 lunch boxes, 5 pens, 1 bottle and 1 bag and gives total worth of Rs. 1000 notes to
the shopkeeper. How much amount will the shopkeeper return to him?

T gEe $ ffiee awgEt # faa G § g

T AT FHET | (T H)
s 10 850
o 8 2800
T ey 32 1280
EIoEE 12 1020
FaH 20 100

WA 3 TFAF, 4 o9 19, 5 FoA, 1 A AT 13 wiea § A gFmeR S F9 1000 794 F
FAT @ A AT T o, gEEER 56 Rrael e amw S

Rs. 225
A

225 30

Rs. 175
B

175 30

Rs. 200
C

200 ¥
D Rs. 125
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125 304

Correct Ans : D

Subject : Mathematics

Q.No: 86 Broader in meaning is-

2482528
3 & S §-
Aims
A
e
Objectives
B
A
Instructional objectives
C
s se=a
D Specific Objectives

Correct Ans : A

Subject : Mathematics

Q.No: 87 which question has increasing objectivity of marking?

2482548
B F Uy A Sie Pt aghEa J 9iS 72
Unstructured essay
A st e
Structured essay
° e
Short answer
¢ Fige IR
D Multiple type questions
USR & 0y

Correct Ans : D

Subject : Mathematics

Q.No: 88 Which one of these is a teacher centered method?

2482602
70 A -4 TP Rigip Bld vGld 82
Lecture cum demonstration method
A I g UaH fafy
Laboratory method
° R Aty
Project method
y oeier Rl
D None of the given opt!ons
o e et & ¥ T

Correct Ans : A

Subject : Mathematics

Q.No: 89 The Chief characteristic of good teaching is-

2482851
3=y e 1 g fasiver 3-

A Te provide Auto-learning conditions
Sel-af- @t fRURY vem F & g

B To make Effective planning
YT AT §H & i

C To pfomote‘democratic principles
AApais Rigidl B geial & & g
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All of the given option

D e @ mft fawe
Correct Ans : D

Subject : Mathematics

Q.No: 90 A is twice as fast as B and B is thrice as fast as C is. The journey covered by C in 3/2 hours will be covered by A in

A, B 1 QI 01 9l § IR B, C BT oI AT ot 9ol § C & §RT 3/2 O¢ B 0 &1 715 g A F 8T g gl

2483874

A 15 minutes
15 fiFe

B 20 minutes
20 fiFe

c 30 minutes
30 fiFe

D 1 hour
1 dar

Correct Ans : A

Subject : Mathematics

Q.No: 91 How many components are in environment?
2469757

ARl B fea aee! 7 faHTior faar amar g2

4
A

q
B

5

2
Cc

2

3
D

3

Correct Ans : A

Subject : Environmental Study

Q.No: 92 Soil erosion can be stopped?

2470142
A &R [ Ed GRT AT S Gabell 57
Allowing move grazing by herbivoroes animal
A
TMHERT TG GRT TRA Bt SR S
Growing crops to cover the land
B
4 B g & g e S
Decrease soil fertility
c
gt &Y Sdar werr
D
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Increase soil fertility

oY &Y Sfvan sgFT

Correct Ans : B

Subject : Environmental Study

Q.No: 93 The step of team teaching is

2470404

< e %1 9 §

planning
A

e

planning and organisation
B

o 3R WS

organisation and evaluation
C

e SR g

planning, organisation and evaluation
D

o, YT SR YedicpT
Correct Ans : D

Subject : Environmental Study

Q.No: 94 The management of human faeces at the household level. It means access to a toilet or latrine is refer as;
2470645

T TR R AFT Td ST YetF | 3951 Iqad § (& ared 1 Aaad 9% Ugd &1 39 w0 § Jefifa fHar o §;

Sewage

A

GIEE]

Basic sanitation
B

g e

Sludge
c

FaS

Solid waste
D

31 Uiy

Correct Ans : B

Subject : Environmental Study

Q.No: 95 The stage when the child starts thinking about objects and events logically, which is:
2472576

g B W oG B, 9T T Al ¥ 9 avwgai 3R g & fawg § foidm Uy &ear g 2

A Formal operative state
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3R T sawn

Pre- operative state

B
d- e saw
Sensory induced state
c
I IR R
Tangible inactive state
D

Il TfehaTaTe T
Correct Ans : D

Subject : Environmental Study

Q.No: 96 Which of the following is not an inorganic substance?

2472768
0 3 BH 0 e uard TEl 82
Calcium
A
Hicwam
Potassium
B
R
Magnesium
C
Arfifrm
Protein
D
W

Correct Ans : D

Subject : Environmental Study

Q.No: 97 The process to keep food items protected is called___

2472832
T vt GRET @ Bl ufpar deand €
Food preservation
A
Qe &
Refrigeration
B
ERIGE]
Boiling
c
CEIGEI
Pasteurization
D

IERISOIRM

Correct Ans : A
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Subject : Environmental Study

Q.No: 98 Any substance which can be taken orally and very useful to the body known as-
2472980

1% ot gered S g8 R 98 b S 9 7 IR ¥ R aifie Iuah Rig €, dea 8-

Minerals
A
e
Food
B
e
Substance
c
Terf
Water
D
Sd

Correct Ans : B

Subject : Environmental Study

Q.No: 99 Your body need vitamin and minerals because
2473015

3Mup IRR B fFerfeq 3R @ieel 3 sravaedr § ife_

They give the body energy

A
IR ST
They help carry out metabolic reactions
B
q ey wiafssaelt B @ #A § g FRa §
They insulate the body organs
c
I RR & 37 ) TgAle FRA T
They withdraw heat from the body
D

3 3R ¥ i P §

Correct Ans : B

Subject : Environmental Study

Q.No: 100 In March 2019 a mannequin called Ripley was flown and sent to the International Space Station. Which space-agency did this?

2473918
T 2019 # Rwf (Ripley) WS T Yaen IS 41 3R SRS sfdier WA & W1 Tl I8 forw sfafke gordt A famame
NASA

A
A
SpaceX

B
WU
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JAXA

C
IRl
CNES

D
RRS AR

Correct Ans : B

Subject : Environmental Study

Q.No: 101 As per the Department of Space update on February 3, 2022, when does ISRO target to launch Chandrayaan-3?
2473945

3 TRadl, 2022 B 3faie fAUF & 3Ude & IR, TR A IGIM -3 Bl Hd Ald B DT d6T @1 872
August 2022

A

SRd 2022

November 2022
B

TGeR 2022

January 2023
c

Sas 2023

March 2023
D

T 2023

Correct Ans : A

Subject : Environmental Study

Q.No: 102 According to which theory, universe started with a huge explosion and matter (dust and gases) filled the entire space?
2474136

9 g ¥ SruR Jeie & Yoaid Ud a9 fahic F g5 ok vard (4@ SR 1) 7 R siaRer &1 R feare

The Big splat
A
far wie
Braneworld
B
TS
Holographic universe
c
SAfrs sErs
Big Bang theory
D

o S 2
Correct Ans : D

Subject : Environmental Study

Q.No: 103 The modified Lander Craft Module Structure of Chandrayaan-2 was delivered to ISRO by on September 5, 2018.
2474217
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TS -2 B TR AR P HiSYe WA ST BI 5 RIdeR, 2018 F ERT 4T TR 7|

BEL.
A
ST, (BEL)
HAL Aerospace Division
B
TEUTT TR o
BHEL.
Cc
99 (BHEL)
SAIL
D
Jd (SAIL)

Correct Ans : B

Subject : Environmental Study

Q.No: 104 The outer layers of the Sun, extending to thousands of km above the disc (photosphere) is termed as:
2474240

% (BPIRRPIR) F FWR goRI [ a el T 3 I8 Wl &1 31 Fel e &

Transition Region

A
W0 8
Corona
B
BRI
Chromosphere
C
PHRBIIR
Stratosphere
D
[ Hed

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Potassium sulphate is an example of which of the following?

2475948
TreRrm Tetre Fofifea § ¥ fraeT Sae 82
Straight fertilizers
A
WA SRS (KT BEATIN)
Domestic fertilizers
B
I SRS (SHRF BEARDR)
Mixed fertilizers
C
i & (e weaReR)
D Complex fertilizers
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[RY I (BRI BEdIoR)

Correct Ans : A

Subject : Environmental Study

Q.No: 106 Which festival among the following in Tamil Nadu is celebrated once in every 12 years?

2476407
o # 4 o 91 JER abeg # R 12 99 § U6 IR 59 91 82
Float festival
A
it Hiead
Mamallapuram
B
HHTITYRA
Jallikattu
C
Sty
Mahamagham
D
T e

Correct Ans : D

Subject : Environmental Study

Q.No: 107 How many total players are there in a team of kho-kho?

2476436
- Y TP G B $a fhar e g &2
7
A
7
8
B
8
12
c
12
15
D
15

Correct Ans : C

Subject : Environmental Study

Q.No: 108 What is the age limit for the National Bravery Awards?
2476442

TP IR REHR F o omg dm w1 37
12 years

12 91T
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B 14 years

14 9

18 years
(o

18 Wit

17 years
D

17 91

Correct Ans : C

Subject : Environmental Study

Q.No: 109 The Bhagoriya Haat Festival is held in the state of -

2476547
W B1C HEIHd fore Rreg & Srifre foam ar 82
Odisha
A
s
West Bengal
B
TS S
Madhya Pradesh
C
A T
Kerala
D
e

Correct Ans : C

Subject : Environmental Study

Q.No: 110 The preliminary visit to the site is desirable as it will give an idea about:
2477337

(i) Which route to be taken

(ii) To choose best activities for students

(iii) Availability of space to conduct activities

Choose the correct code:

5 &1 YRS IE a8 iifh 98 39 aR § e fJEr &l
(i) 1 31 91t ferar SmQ

(i) BE & forg wafaw wfafafial &1 9a9 &

(iii) TIifaferT & dara & T R BT Juasa

T PIS
Only (i)
A
Fad i)
B Only ii
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HId i

ii and iii only

¢
ii 9K i T
i, ii and iii
D
i, ii AR iii

Correct Ans : D

Subject : Environmental Study

Q.No: 111 Involving students in the teaching and learning planning process, means:

2477376
Rregor AR ifeT Ao witha # S B A B @7 o g
Participation of all students in planning
A
Ao 5 # i onl ot Hrflert
Participation of only intelligent students in planning
B
TS S H Faa gfad™ oEl Bl Hifiar
Participation of only weak students in planning
c
IS §71 H Ha SHGR BT BT HIGRT
No children can participate in planning
D

AT s 7 FIS o = YRT I & e

Correct Ans : A

Subject : Environmental Study

Q.No: 112 You, as a teacher, want to teach about plants. To make the class most interesting you should use:

2477385
3T T e & w0 § Gl & IR T UM 9154 ¢ Tl B g feer 99 F g simuey 1 SYANT AT MMRT;
The school garden as a learning resource
A
SRR & TR & ¥U H KA B Sl
The school laboratory as a learning resource
B
STRTH & TN & w0 | Tpd TR
Textbooks only
c
& TeuTD
Bring pictures
D

TER
Correct Ans : A

Subject : Environmental Study

Q.No: 113 The India State of Forest Report is published -
2477815
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Efear Ve &fits pivee RUIE (URd 7 Rufa faid) UBIRIT P 91 @ -

Annually
A

it

Biennially
B

farfes

Triennially
C

s

Every five years
D

B EEIGE
Correct Ans : B

Subject : Environmental Study

Q.No: 114 When was the Antarctic Ozone Hole discovered?

2477846
sferdied ol f5g @ O e g3 o
1963
A
1963
1972
B
1972
1985
C
1985
1993
D
1993

Correct Ans : C

Subject : Environmental Study

Q.No: 115 Which of the following is NOT an example of ICT?

2478502
Foffead § § SF-a1 org. 3. &1 Iam T 82
A paper pamphlet
A
TP T drpae
Pictorials
B
el
Mouth-to-mouth information
C
HFA-THA B THGRE
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D Mobile technology

HERd dF-ie

Correct Ans : C

Subject : Environmental Study

Q.No: 116 Which of the following is correct with respect to usage of ICT in the classroom?

2478527

Fel & o, A, & I & Wey F Fufied ¥ § o9 o e @2

ICT integration is an easy task for the teachers
A

gt & g s, 3. T GHF/ TRV U@ HEH FMH §

The teachers must be updated about new and emerging ICT tools
B

et Bt T oIk SR or. .. SuEwel S IR H Srr A T ARy

ICT literacy of teachers is more important than students
C

Rierept Bt o .. TeRar S F a1 & oifiw gyl ¥

A good operational knowledge alone can help a teacher in ICT integration in the classroom
D

T 33T URETH I 215d Hel 7 . .3, e & U s &1 Heg o) Jodl §

Correct Ans : B

Subject : Environmental Study

Q.No: 117 Full form of CNG is

2478640

ool 1 R wY §

Common National Gas
A

B IR T

Compressed Natural Gas
B

FERS IR N

Common Natural Gas
c

BIA g

Certified Natural Gas
D

wiéwTEs TgRa W

Correct Ans : B

Subject : Environmental Study

Q.No: 118 Observation by the teachers on the children is very important. Now observation can be -
2478656

1.Purposive

2.Incidental

Choose the correct code -
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Tal R gl gR1 sadie 9gd AUl 8| 3(d HTeid o IHal § -

1.98%aq
2. 590TaRn

gl Bl I -
Only 1

Had 1
Only 2

qd 2

Neither 1 nor 2

Tdr1eiRAE 2
Both 1 and 2

el 1 3R 2

Correct Ans : D

Subject : Environmental Study

Q.No: 119 Which of the following should NOT be done in an interview to assess a child?

2478664
TP g Pl e B $ (¢ WaThR # Fafarad & 3 w1 1 fdar s =mige?
Only questions that need to satisfy the purpose should be asked
A
Faq 98t Uy I o9 T S IRT B I HRA B AR 8l
The respondent should not be given time to answer.
B
ITRET P IR & & forg o =1t feran < =l
The interviewer must try to build trust and confidence in the respondent.
c
&R B! SURE | 94 3R TEF T BT IR ST A1V
The interviewer must bring clarity in the questions.
D

e REdl ! Ui & Wyar 9 =eal

Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following is NOT true about the term Comprehensive in the “Continuous and Comprehensive Evaluation”?
2478726

Fafared # 9 SF "Had 3R HUS G § S ek & gR H F51 7o) 82

CCE is comprehensive in nature in terms of tools and techniques used for evaluation of learners.

A
Rrenifdt ¥ geaie & RIT Iud fPT oF a1 SUBRON SR aH-ie! & T 7 W vpfa & s 31
CCE is comprehensive in nature as it is used for assessing various learning outcomes like knowing, understanding,
applying etc.
B
IS vpfa & anue § ife Sue! SuanT fafte it & uRkomdl St o, WHSH, 3Mde B3 3fifS BT SMhad B & fog fosar o g1
COE ie rarmneahanciva in natira as it dalracs ~ara Af achinuvamant aAf lasrnare in uarinne erhanl cnhiacte fram emianca
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c VL 1D CUNIPITHITIHISIVE 1 1IAdLUI T adD IL LARTD LAl T Ul aullISVCIITIIL Ul ITSAlIISED 111 val Ivud DUIUUT DUIJTULD 11U DUITIILSG,

mathematics, languages, social science, work education and physical health activities.

R vofa & e § it 75 fagm, 1w, um, s faem, o Rier iR IR area Tfafafar S fafte wpa favgt & Rienifd ) Suals &1
ST Xl 3

CCE is a Comprehensive in nature as it rejects the affective and psychomotor abilities and focuses on Coghnitive domain
only.

CCE TP & TF s § Fiifh I8 Uaies SR THIDR0N &merall 3 SiidR Fal § iR Hae SIS S WR 9 Hiod Sl gl
Correct Ans : D

Subject : Environmental Study

Q.No: 121 Choose and match the theories of play given by various authors:

2474389
Column 1 Column 2
1. The Swrplus Energy theory | 8, Karl Gross- play is primarily a prepamation for future lifz
and work . - ]
2. The Reareation theory b. Gullick and Hall- in play child passes through which the
hutnau race passed
3. The Anticipation theory ¢, Lozarus- through paly, tensions may be relensed nnd
children feel relaxed after playing
1. The Recapitulation theory d. Spencer and Schiller — notall the energy Produced by
the child is neadad for growth
ol et gRT AT T @ Rt &1 g ok Fa H:
HIAH 1 HIEH 2
1. SN Ut A a TN AE- O HTT W F A SieE s w & e dary
[
2. RfFrser sl b. few IR FiN- & F awar et § B awe aify
percH|
3. vARYIE TRy c. WIATER - BW ¥ dWd gy giof ¢ 3R oo vew & 7%
I AGHH 5 &
4. Frddegdnm oot 4. Tt 3R BT - R T @ 3 @t ST R &
T T 78T 8
1-d, 2-¢, 3-b, 4-a
A
1-d, 2-c, 3-b, 4-a
1-c, 2-d, 3-a, 4-b
B
1-c, 2-d, 3-a, 4-b
1-d, 2-c, 3-a, 4-b
C
1-d, 2-c, 3-a, 4-b
1-c, 2-d, 3-b, 4-a
D
1-c, 2-d, 3-b, 4-a
Correct Ans : C
Subject : Child Developement
Q.No: 122 Family is a means of—
2474431
oRar BT TF W B
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A Informal education

SR fRrem
Formal education
B
oy e
Non-formal education
c
R-shuaie Rian
Distance education
D

R e
Correct Ans : A

Subject : Child Developement

Q.No: 123 A child bitten by a white dog is not afraid of black dogs. This is an example of

2474639
Fha B GRI PIe T &= Bl BIel Pl T €L 81 A1, T fbgepT Il §
Discrimination
A
ey
Spontaneous recovery
B
gl GG
Shaping
C
&gy
Generalization
D

ISR

Correct Ans : A

Subject : Child Developement

Q.No: 124 Which of the statement is incorrect?

2476196
I8 Q PIF-T1 HY TTAd 82
The large muscle of child develop before the fine muscle
A
T 3 TSI HiEOR S AeoRh & ued e gkl §
The hands and arms are used before the legs
B
TR § ved T SR 6 1 U o W §
The child has to learn fine motor skills first before he learn gross motor skills
(o
T HIeR PII WG ¥ Uga T BT B3 A DI g1 gem
D Motor development depends upon neutral and muscular maturation
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AR i der 3R wigiiy uiusar R Rk evar g

Correct Ans : C

Subject : Child Developement

Q.No: 125 When children first start to speak in sentences, their speech may be described as

2476232
94 g Ugdll SR arad! § S IE IR §, af 3D UV DI 39 USHR afold fear S g §:
Multilingual
A
Fgumht
Babbling
B
[CRIES)
Exceptionally
C
CECICEED
Telegraphic
D
et

Correct Ans : B

Subject : Child Developement

Q.No: 126 refers to what an organism actually does.
2476984
FafHa o1 § i & oia arad § o1 a1 5
Learning
A
31T
Maturation
B
aRggdr
Performance
C
TERA

Reflex action

wfad fmar

Correct Ans : C

Subject : Child Developement

Q.No: 127 It is generally observed that persons who adopt a of learning are motivated by getting good marks and other external
2477071 rewards.

STHAR R U8 &1 AT § b o safaa dikea &1 ST T, T 3 3ih 3R 3 TG REBR U s ORd g 5
Surface approach
A
g e
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B Deep Processing approach

e wfa e

Field dependent
c

ST

Field independent
D

RIGaH

Correct Ans : A

Subject : Child Developement

Q.No: 128 At what age Highly egocentric and self-centred obedience characteristics are seen in children?

2477528
50 39 & o=l & ol WaHfid ol sierpi=d SRIIRGT & e fears & €2
0-3 years (Infancy)
A
0-3 o (JramEw)
3-6 years (Early childhood)
B
3-6 9 (URMIF T=U)
6-12 years (Middle childhood)
Cc
6-12 Y (Hed §9)
13-16 years (Adolscence)
D

13-16 99 (foriRra=m)
Correct Ans : A

Subject : Child Developement

Q.No: 129 Attention deficit hyperactivity is which type of disorder?

2477632
3T SPRie gRmRufafact (H ot i iR rafid gisadn) &g UeR &1 JeR § 2
Neuro development disorder
A
dfeT faem fier
Social disorder
B
o fAsR
Emotional disorder
c
HIGIHS fdpR
Behaviour disorder
D

agR R

Correct Ans : D

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 48/57
Page - 48



Q.No: 130 Which of the following acts can NOT be considered as acts of delinquency by children?

2477690
T & I &F 1 S I gR1 SORTY & SR & &0 & g1 AT o 9l 67
Reading prurient literature
A
S e TgT
Having friends of opposite gender
B
oot ol & fom g
Being absent in class-room without permission
c
fomm srgafa & wam ® srufua e
Running away from school
D

THa q YR ST
Correct Ans : B

Subject : Child Developement

Q.No: 131 Who out of the following is famous for the quote “He who opens a school door, closes a prison”?

2477791
e # 4 1 "dl S Tl P aar! Giewdl 8, WA & XA 88 Bl 8" ISRl P A Uil 82
Alexandre Dumas
A
SIS, G
Oscar Wilde
B
3R BT
Victor Hugo
C
famrex gt
Mark Twain
D
S ¢

Correct Ans : C

Subject : Child Developement

Q.No: 132 Which of the following is/are the reason/s behind the difficulty of implementing inclusive education system especially in rural areas?
2478114

i) Non-availabilty of professionals in the field

ii) Scarcity of appropriate teaching material

Choose the correct code

Ry &g 3 aredftor 8= & Fora=h e voneh B @] A § Biea & O Fufifea § § SF-1 IR 3/8?
i) &% T U9 DI Ul

i) Iugad fRigror gl o1 St

gl DS g
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A i) only

i) Faa

ii) only
B

ii) Faq

both i) and ii)
c

Ml i) SR ii)

Neither i) nor ii)
D

Tdri) Tdii)
Correct Ans : C

Subject : Child Developement

Q.No: 133 Which of the following is NOT an essential infrastructural requirement for inclusive education?

2478116
Fafafed § ¥ oF aasl e & [T @ oawas e siadsmd Tol 82
Noise free location of the classroom
A
T BT IR T VE
Adequate space inside and outside the classroom
B
T F SR IR TR W g
Air conditioned classroom
C
TR Terd e
Play ground in the school
D

T § T &I AeH
Correct Ans : C

Subject : Child Developement

Q.No: 134 When a child is not able to read out printed material due to visual impairment, technique can be applied for
2478130 agsessment of the child.

S H T TP 8 F PR GEd Il F1 Ued H Tem T8 ST 8, O 9= F o & o qBIp AN HT S bl g
Omission

A
T a1 (ShfRm)
Substitution

B
ot (witegzr)
Compensation

Cc
IR (FUET)

D Modification
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TR (ATSHRF)
Correct Ans : B

Subject : Child Developement

Q.No: 135 Which of the following symptoms are indicative of Learning disabilities in a child?
2478296

i)Difficulty in counting

ii)Lack of concentration

iii)Always confused between right and left

iv)Reverses numbers too frequently

v)Problem in holding a pencil

Choose the correct code

Fofifed # 4 o1 3 da0 & g & S SRl & 63 o7
i) fiecht & efeTs

i) THRIAT B HH

iif) TN &Y SR 1 & & P S

iv) SETel BT 9gd 9R IAT ol

v) URId udbe & guan

T TE I -

i), ii), iii) and v) only

i), ii), iii) 3R v) Faq

ii),iii),iv) and v) only

i), iii),iv) iR v) Faa

i), ii), iii) and iv) only

i), i), iii) 3R iv) Faa

i), ii), iii), iv) and v)

i), i), iii), iv) 3R v)
Correct Ans : C

Subject : Child Developement

Q.No: 136 Once constructed by the society, individuals themselves then shape society. Berger and Luckmann described this relationship as which of

2478923 e following?

TS IR FAN gR1 (A, safed Wd & 99 31 eR 24 T 1 ToR 3R ThaH A 39 Yoy &) Rgfeiaa & I foae =g # aftfq feare

Materialistic Operation

A
Wifdeard! e
Dialectic Operation
B
oIS Gae
C Self-Consciousness
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STH-TTT

Altruism

TRigesIRar

Correct Ans : B

Subject : Child Developement

Q.No: 137 According to Piaget, the Sensorimotor stage of a child is from
2479072

TS % SR, Th T= &1 G3-GeTeH G $6 I B aP eIl 82

From birth to 2 years child

A
SHI2 T S T aB
2 to 7 year
B
2@ 7af
7 to 11 year
C
7d11qf
12 and up
D
12 IRFW

Correct Ans : A

Subject : Child Developement

Q.No: 138 Which of the following stage is not discussed by Kholberg theory of moral development?

2479269
A o F SHiea Rigia gr1 Fafifed § 3 fg == 3t ==f 76 &1 7 82
Law and order orientation

A
P SR awT e
Good Bay/Nice Girl orientation

B
3T I5ehT / 30T o5 3ifafd=arT
Bad Boy/Bad Girl orientation

C
RS &1 / W’ e A
Social contract orientation

D

oG SEY SHfa=T
Correct Ans : C

Subject : Child Developement

Q.No: 139 According to Kohlberg, Relationship with colleagues at work comes under

2479299

Plaai $ IR, FRIVA TR TgHHA & T Wae & Aid fbead a1 §
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A Social contract

I ey
Social pressure
B
IS EaTd
Social order
c
YIS SR
Social formality
D

e S

Correct Ans : A

Subject : Child Developement

Q.No: 140 Which of the following is the correct Mathematical Formula to Measure Intelligence Quotient?

2479678
Fafafed & 9 oiF-a1 98 1T 9 § S 9 4iea & Jue & R g2
Intelligence Quotient = Mental Age/Chronological Age x 100
A
S I = TFRE 1Y / STArHAS g x 100 (SRR B = Hed T/ HHaieeDmd T x 100)
Intelligence Quotient = Chronological Age/Mental Age x 100
B
S I = DIAHAS AR/ AFRE g x 100 (3RO PRI = BiHmHd Tol/Hed T x 100)
Intelligence Quotient = Chronological Age/Mental Age
c
e Al = Pt oM/ ARRG S (SRS PIiC = PR TS/ Aed )
Intelligence Quotient = Chronological Age x Mental Age / 100
D

S A = FRATH S 7Y x ARG 3 / 100 (3o Bikic = BHaiomd 6 x Hed Td / 100)

Correct Ans : A

Subject : Child Developement

Q.No: 141 According to Erik Erikson theory’s eight stages, what is trust versus?

2479895
RS IRGI RGId & 3138 TN & J9R, AR §7m 1 82
Mistrust
A
Sy
Shame
B
=
Guilt
c
EL
D Isolation
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THIBIUA

Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following is not an important influence of humanistic approach of motivation?
2480038

FofaRad # ¥ o SRR & THadard! @R &1 Agayl uud T8 82

Self-determination

A
W@-yrafo
Self-fulfilment
B
e gt
Self-esteem
c
SITH T
Participation in learning communities
D

FRPT ard Tl § urfiert

Correct Ans : D

Subject : Child Developement

Q.No: 143 Which of the following teaching strategies can be tailor-made according to the children's area of interest?
2480247

Fafafad # ¥ oF-30 Rieor Wi gt @t S & 89 & IR TR B o Gt 82

Goal setting

A
A& B R
Differentiated instruction
B
faifea fdw
Cross-subject teaching
C
Pro-Hearae e
Integrated technology-based teaching
D

THipd Wt smeia Riemor

Correct Ans : B

Subject : Child Developement

Q.No: 144 “Every child is unique and special" is a concept of child development. Which of the following things must the teacher do keeping in mind

2480312 he ahove concept?

S F Sifgclia iR IR g 91t faTg B SiauRoN §1 SWa SayRoN 1 & & ¥&d ¢ Ried o Fafafad § § SH-11 $rf w1 Afge?

Provide help to the students whenever needed

wig 4 weva 21 faenfiar @1 gerer ueF B3
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B Adopt best teaching practices in the classroom

e & wataw fRigor gEfdl B ergEr

Understand the need and capacity of every child and teach accordingly
C

T T B TR IR & HY THS SR S F SER UG

Teach students in the best possible way
D

faenffal 1 gafow Yya a8 § ugY

Correct Ans : C

Subject : Child Developement

Q.No: 145 According to Mosby's medical dictionary, is the study of mental, emotional and behavioural development of infants and
2480316 children?

TRell &t AfSwd MY & o NR, el SR s=df & AFRE, Hiaids SR TagIRG faer &l S gl

Child development

EIGREETR

Child psychology

EIGK:RIGEIRE

Child behaviour

] FGER
Child study

9d S
Correct Ans : B

Subject : Child Developement

Q.No: 146 The purpose of evaluation is.

2480657
Ao BT e ¢-
to label children as slow learner and gifted children
A
et Bt i i & T 9 od wfervreh STael & w9 § dee SR
to identify children who need remediation
B
T ST B STARTHS RIel P} SaLIHal 3, I UgaH HRAT
to diagnose learning difficulties and problem areas
c
SRTH ot HiSFE T FeeT At &5 BT Al @I
to provide feedback on the extent to which we have been successful in imparting education for a productive left.
D

JAIEH e SiF & o Rre g T 9% JaR = UIS 3, ST YU veH H1l
Correct Ans : D
Subject : Child Developement
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Q.No: 147 For primary school children, which of the following is better?

2480658
T el & srae! & o g & 59 g o |2
Video simulation
A
o argeao
Demonstrations
B
weRA
Hands-on-experiences
(o
w4 & R foban T sgHa
All of the given options
D

feu it e

Correct Ans : C

Subject : Child Developement

Q.No: 148 Piaget has recommended how many stages of cognitive development -

2480671
T3S 7 IS [Gpra & faa =Rull 31 R &1 82
Four
A
IR
Six
B
B
Two
C
@
Three
D
i

Correct Ans : A
Subject : Child Developement

Q.No: 149 Unequal treatment in employment opportunity (such as promotion, pay, benefits and privileges), and expectations due to attitudes
2480805 pased on the sex can be treated as................ ?

ATIR & TR F SAM AGER (O USHd, I, T iR [IRWRGR), iR 1 & SR R RS0 & SR WS & ..o, T o Gball &
Social biasness

A
FHIE Yag
Physical biasness

B
IR qEhre
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Gender biasness

e qafre

Virtual biasness

UR gaiTg
Correct Ans : C

Subject : Child Developement

Q.No: 150 Gardner's theory of multiple intelligence says: -

2480824
TSR &1 95 gfema &1 Rigia gara &:
intelligence can be rapidly accelerated
A
ST HY dolt ¥ ST o Yebal §
people have different kinds of intelligences.
B
il § ol yoR 1 giea o 8
Teacher should follow one specific theory of educational innovation at the time of designing instruction.
C
e 1 fomee YA & v e FaroR & ve ARk Risid ST ue w1 =iy
There are ten type of intelligence
D

ST &9 USR @1 gl §
Correct Ans : B

Subject : Child Developement
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